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(a) Simplify (2a + 3b) — (5a — 2b) + (6a = b).
(b) Expand (m + 4p)(2m - g).
(c) Given that x = 4 and y = -3, evaluate

i) 5y (il £#<,
y X
(a) Expand and simplify
(i) (3a+ b)da - b), (i) (-x+ Dix-1).
2a+b

(b) Given the formula y = i find the value of

(i) ywhena=4and b =-1,
(ii) awheny=3and b=35.

(a) Expand and simplify the following.
(i) 2x-Dx+3)-(1-4x)(2 + 5x)
(i) BP—x+4(2x-5)

{(b) Given the formula s = %(u + v,

(i) find the value of s when =0, v =20 and r = 3,
(ii) express u in terms of s, ¢ and v.

Simplify the following expressions.

2x -3 x-1 2p-59 p-6q _ox+1 x-2
(@) 4 * 5 (b) 7 3 © 1 2 & 6
Factorise each of the following completely.
(a) 4pgq + 6gr — 10gs
(b) 2ax + 8ay — 3bx - 12by
(c) 7:2-28
Factorise each of the following completely.
(a) 15m— 12m? (b) ¥*-3x-18 (c) 16— 64y*

Factorise each of the following completely.
(a) 10 +11x+3

(b) 49x7 — 28xy + 4y?

(¢) 9ar*-2b+ 18bt’ - a

Given the formula T = ZkE , where L > 0,

(a) find the value of T when g = 12, k=3 and L = 75,
(b) make L the subject of the formula,
(c) find the value of L when T= 18, k=6 and g = 8.




